D)sx -1 @ 5x+1

@ 7x-1 ® Tx+7

® Tx+1

6x2 +x—12 = (3x - 4) (2x + 3)
o (3x—4)+ (2x+3) =521




3ab? — 15a’b & JATENTF A7

@ abla-b) @ 3a(b? - b) @)3ab(b - 5a)
@ ab(a+ b) ® 3a*(b* - 5b)

3ab® — 15a*b = 3ab(b — 5a)




Ol AP A A (3x—4)2 -2(x-32 =02 ax® +bx+c=09 B
Uebd o, ac - b 9] L& Foteiet

(3x-4)2-2(x-3)2 =0
9x? —24x+ 16— 2x> +12x - 18 =0
Tx?-12x-2=0
na=17b=-12, c=-2
Lac—b=-14+12 = -2




4. & T x=-3°] 87} He oA A2? (A 2 M)

® x(x+2)=0 (@)x2+2x—320
@x2+5x+6:0 @ 2x2-x-1=0
® 2*+4=0

@ (x-1)(x+3)=0

®(x+2)(x+3)=0




5. X Hax+4=09F011, bd W, a b = 27 F5tof=h

it

vV Vv Y
0
iy
Q
I
&

02
L
S
Il

=~

B

124ag+4=09%E2 a=-5
Z,x2-b5x+4=0°]B2 (x-1)(x-4) =0
Lx=1FEEx=4

oot b = 4 olek.




x% 4+ 2x - 63 =0 9 & L3l
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¥ +2x-63=(x+9)(x-7)=0
L x=-9FEx=7




8l+x*=x*-81=x*-92=(x+9)(x-9)




Q
. (2—2(1)2:(2(1—17)2
. -b*=(a+b)(-a
(a+b)? —4ab = ( o
= (a-b)?

® 4ab -
1=(2a+1)(2b-1)

ORQ)

, ©

® 0066 ?6),@
Q. ©
.G, @

® 6,6

©: a?
—_p2 =
(a+b)(a—Db)

®: 4
. dab —
2a + 2
b —
1=(2a+1)(2b
_1)
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10. x+39lx2-x+a 9 A=Y 0, a 9 7H2?

@-12 @ 03 @4 ® 12

B

x+30lx2-x+af dFolBR2 2 —x+a=(x+3)(x+0DO)
= J2sf H

FHA x+3=022 5h= x 3 -3 S HUsHA
(=3)2=(-3)+a=0

Sa=-12
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® x+1,3x+1

@ x+6, 2x

@»x+3,h

® x+6,2x+3

@ x+3,2x+1

2x2 + 6x = 2x(x + 3)




12, x%y—y-2+42x2 o] Q17 ofd A9

@® x-1 @ x+1 ® x?-1
@y—z ® y+2

B

(=) =xty+2x2—y-2
=x(y+2)-0+2)
=(*-1)(r+2)
=(x+1)(x-1)(y+2)
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o}, p2 —6p + 8 ©] Ff>?

@ -11 ® -61

x o pE HYSHH p? -6p-3=0°]|E2
p?—6p=3
wtebA] p? - 6p + 8 = 11 0]t




14.

o] HYSEE P4 A, B, C o] TLL 55 &A= v=7)

MD)16, 6, 3 @ 8,6, 3 ® 16, 3, 6

a*+8a+A=(a+4)?=d’>+8a+16, A=16
¥ +Bx+9=(x+C)?=x2+2Cx+C?
C?=9, C=+3,B=2C, B=+6

~A=16, B=6, C=3 (- B, Ct %)




15. The A% F 310 - 12 Lol Woj A sk 47} opd L2

@ 2 @ 4 ® 5 @9 ® 10

B
(38-1)(3%+1)

= (3* —_1)(34 +1)(3%+1)
1

=B-1DB+1B2+1)B*+1)(3%+1)
=2X%X4x10 X% 82 x 6562




